
Pre-Calculus - Honors

Homework #51 Answers
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For eochihe stondord right trioqgles with typicol Pythogoreon triples is

used unless otherrise noted.
38) 4/5
39r 5/4
Qt 7/25

*l;i'ii"'.pposite tes is 3 and the odjocent les is 5 then the
hypotenuse, n is: trr-rOri 

!n"
i4 = rf r* = {G *rrs'- &4E

43) If the opposite leg is 3 ond the hypotenuse is 8 then the odjocent
teg,'n is: 32 * n2 = 82

Q+1l2=g{
n2 = 55 n = €5' nns: -3l{B

48) For ZA the odjocent leg is x ond the hypotenuse is 1.
For the opposite leg, n: x2 * n2 = 12

n={1-xz
sin(Arc cos x) = {i-;z

49) For ZA theop*1,r" leg is x - I ond the hypotenuse is 1.
For the odjocent side, n: (x - 1)' * n2 = 12

n=.l|F
= .rl-rf + 2x

sec(Arc sin (x - 1)) =
,,1-x2 , Zx

5O) For lA the odjocent.leg is x ond the is hypotenuse 5.
For the opposite leg, n: xz * A? = 52

n=",125-x2
ton(Arc cos (x/5)) = .JZ5?'

o t ',

51) For ZA the odjocent leg is x ond the hypotenrse is 1.
For the opposite leg, nz x2 * n2 = !2n={iT
sin(Arc cos x) = ./i-z

51) For this we just need the reciprocal:
cot(Arc ton (1/x)). = :j
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